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The ability to not only carry out statistical analysis on real-world 
problems, but also to understand and critique any conclusions 

drawn by others on the basis of statistics. 

Data literacy
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Population: the complete set of individuals 
that we are interested in

Sample: smaller set of individuals that is 
representative of the population

Variable: what we are interested in measuring

inference

Inference means two things:  
1. Estimating population parameters  
2. Testing hypothesis regarding the population 

distribution
Null Hypothesis (H0) 
Assumption about the 
population distribution 

and its parameters 
(mean, variance, etc)

Basics on inferential statistics and hypothesis testing

Slide content adapted from Matt Castle



Null Hypothesis (H0) 
Assumption about the 
population distribution 

and its parameters 
(mean, variance, etc)

Choose test  
Based on data and H0

Calculate test statistic, interpret results Slide content adapted from Matt Castle

Basics on inferential statistics and hypothesis testing
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injected rats response times is 1.05 seconds with the sample 
standard deviation of 0.5 seconds. Do you think that the drug 
has an effect on response time ? 
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Constructed the null and 
alternative hypothesis 
about the population

Calculated test statisticObtained p-value

Reached a conclusion

Assume H0: 



Key Concepts - Hypothesis Testing

• All statistical tests are based on assumptions! 

• All statistics can be wrong 

• Statistical tests are probabilistic in nature  

• There is always a chance that the result is wrong (even when all assumptions 
met perfectly):   

• Either significant result when no difference (Type I),  

• Or insignificant results when there is an actual difference (Type II) 

Slide content adapted from Matt Castle
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Type I and Type II Errors
• All hypothesis tests involve making a decision: 

Slide content adapted from Matt Castle

Is this result significant or not? 

Type II error or False negative
This is when you fail to reject the 
null hypothesis when it isn't true

"You're not pregnant"

Type I error or False positive
This is when you reject the null 

hypothesis when it is true

"You're pregnant !"

• This decision can be wrong in two ways: 
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Type I and Type II Errors
H0: µ = 1.2 s 
H1: µ ≠ 1.2 s

µ = 1.2 s µ = 1.2 sµ = 1.05 s

if p-value > ⍺ → do not reject H0 

if p-value < ⍺ → reject H0 in favour of H1

⍺=0.05 → the type I error, the probability of rejecting  
 H0 when H0 is correct 

Suppose H1 true: 

θ → the type II error, the probability of not rejecting 
H0 when H1 is correct 

1- θ → Power is the probability that we actually detect  
an effect that exists



Effect Size (δ) Sample Size (n)

Significance 
Level (⍺)

Power (1 − θ)

Power Analysis

• The four concepts are linked 

• If we know three, we can work out the forth  

• Power calculation: Aim is to define the 
probability (1-θ) to detect an effect size of 
interest (δ) at the ⍺ level with a sample size of n 
biological replicates  

• Sample size calculation: Aim is to define the 
sample size (n) allowing to detect an effect size 
of interest (δ) at the α level with a given 
probability (1 − θ). 



Power Analysis in Differential Expression Analysis
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Statistical Aspects of Differential Expression Analysis

Model the expression of each gene as linear combination of 
explanatory factors (eg. treatment, age, sex, etc.) 

y = a + (b * treatment) + (c * age) + (d * sex) + e 
y = expression of gene 

a, b, c, d = parameters estimated from the data 

a = intercept (expression when factors are at reference level)  

e = error term

y = βX + ε 
Express the count data vector of a given gene, y, as a function 
parameter vector (β) times a design matrix (X) plus a stochastic error 
vector ε 

observation = deterministic model + residual error 

Linear Modeling



• Collect the information related to each sample for predictors of interest  

• Define β, the sets of parameters we are interested in 

• build the X matrix that relates the sample information with the β 

• estimate the β and use statistical inference to assess significance (p-values) 

Statistical Aspects of Differential Expression Analysis
Linear Modeling



Construction of Design Matrix

Next Session!



This plot illustrates some common features of RNA-seq count 
data: 

• a low number of counts associated with a large proportion of 
genes 
• a long right tail due to the lack of any upper limit for 

expression 
• large dynamic range

Statistical Aspects of Differential Expression Analysis
Characteristics of RNA-seq data



This plot illustrates some common features of RNA-seq count 
data: 

• a low number of counts associated with a large proportion of 
genes 
• a long right tail due to the lack of any upper limit for 

expression 
• large dynamic range

Statistical Aspects of Differential Expression Analysis

Looking at the shape of the histogram, we see that it is not 
normally distributed.

Characteristics of RNA-seq data



To assess the properties of the data we are working with, we can 
look at the mean-variance relationship.

Statistical Aspects of Differential Expression Analysis

For the genes with high mean expression, the variance across 
replicates tends to be greater than the mean (scatter is above the 
red line).

Characteristics of RNA-seq data



To assess the properties of the data we are working with, we can 
look at the mean-variance relationship.

Statistical Aspects of Differential Expression Analysis

Essentially, the Negative Binomial is a good approximation for 
data where the mean < variance, as is the case with RNA-Seq 
count data.

For the genes with high mean expression, the variance across 
replicates tends to be greater than the mean (scatter is above the 
red line).

Characteristics of RNA-seq data



Statistical Aspects of Differential Expression Analysis
Negative Binomial Regression



After the model is fit, coefficients are estimated for each sample group along with their standard error. The 
coefficents are the estimates for the log2 fold-changes, and will be used as input for hypothesis testing.

Statistical Aspects of Differential Expression Analysis
Negative Binomial Regression
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Statistical Aspects of Differential Expression Analysis
Negative Binomial Regression
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Negative Binomial Regression

Recall the simple linear regression model for expression: 

y = β0+ β1X + ε 

• where X=0 (untreated)  

or X=1 (treated) 

• y is the observed ”expression” of the gene 

• ε is the measurement noise term 

• The parameter of interest is β1 (the treatment effect)
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General Hypothesis

• Is the RNA abundance level for any of the m genes affected by treatment

• Let H0j denote the null hypothesis for gene j  

• H0j: The RNA abundance level for gene j is not affected by treatment  

• H1j: The RNA abundance level for gene j is affected by treatment 

• The global null hypothesis is H01 and H02 and .. and .. H0m are all true

• The global alternative is H11 or H12 or .. or .. H1m is true

• In other words, under the alternative at least one of the alternative hypothesis is true



Statistical Aspects of Differential Expression Analysis
General Hypothesis

• Reformulation 

• The global null hypothesis: β11=0 and β21=0 and βm1=0 

• In other words, all of the βj1 are equal to zero  

• The global alternative is β11 ≠ 0 or  β21 ≠ 0 or ... or βm1 ≠ 0 

• In other words, at least one of the βj1 is not equal to zero. 
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Multiplicity Correction

• A gene with a significance cut-off of α = 0.05, means there is a 5% chance it is 
a false positive. 

• If we test for 20,000 genes for differential expression at α = 0.05, we would 
expect to find 1,000 genes by chance

• If we found 3000 genes to be differentially expressed total, roughly one third 
of our genes are false positives!

• The more genes we test, the more we inflate the false positive rate. This is the 
multiple testing problem.



Multiplicity Correction

• Bonferroni: The adjusted p-value is calculated by: α * k (k = total number of 
tests). This is a very conservative approach 

• FDR/Benjamini-Hochberg: Benjamini and Hochberg (1995) defined the 
concept of FDR and created an algorithm to control the expected FDR below 
a specified level given a list of independent p-values.



Multiplicity Correction

Examples of expected overall distribution 

(a) : the most desirable shape 

(b) : very low counts genes usually have large p-values  

(c) : do not expect positive tests after correction 



Multiplicity Correction

Examples of unexpected overall distribution 

(a) : indicates a batch effect (confounding hidden variables) 

(b) : the test statistics may be inappropriate (due to strong 
correlation structure for instance) 

(c) : discrete distribution of p-values : unexpected 



Conclusions

• Assumptions assumptions assumptions


